P 2L d https://lwww.pass2lead.com/gd0-110.html
aSS ea 2024 Latest pass2lead GD0-110 PDF and VCE dumps Download

https://Pass2Lead.com

GD0-1100%As

Certification Exam for EnCE Outside North America

Pass Guidance Software GD0-110 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/gd0-110.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Guidance
Software Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest GDO-110 Dumps | GD0-110 Study Guide | GD0-110 Exam Questions 1/3


https://www.pass2lead.com/gd0-110.html
https://www.pass2lead.com/gd0-110.html
https://www.pass2lead.com/gd0-110.html

P 2L d https://lwww.pass2lead.com/gd0-110.html
aSS ea 2024 Latest pass2lead GD0-110 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 1

RAM is an acronym for:

A. Random Addressable Memory
B. Relative Addressable Memory
C. Relative Address Memory

D. Random Access Memory

Correct Answer: D

QUESTION 2

Which statement would most accurately describe a motherboard?

A. The main circuit board that has slots for the microprocessor, RAM, ROM, and add-in cards.
B. Any circuit board, regardless of its function.

C. An add-in card that controls all hard drive activity.

D. An add-in card that handles all RAM.

Correct Answer: A

QUESTION 3

A hard drive was imaged using EnCase. The original drive was placed into evidence. The restore feature was used to
make a copy of the original hard drive. EnCase verifies the restored copy using:

A. Nothing. Restored volumes are not verified.
B. A running log
C. An MD5 hash
D. A 32 bit CRC

Correct Answer: C

QUESTION 4
How many partitions can be found in the boot partition table found at the beginning of the drive?

A 4
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B.2
C.8
D.6

Correct Answer: A

QUESTION 5

Two allocated files can occupy one cluster, as long as they can both fit within the allotted number of bytes.
A. True

B. False

Correct Answer: B
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